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Divide these numbers.

Why couldn't the butterfly get into the dance? Because it
was a moth-ball!

1108 +12 = 26 24 +12 = °lL.120+12= 6 48=+12=
2 96+12= 2. 36 +12= 52. 60+ 12= 7 144 +12 =
3132+ 12 = 2. 12 +12 = 8. 72+12= 78 84+12=
4 120+12 = 2. 108+12= 5 24+12= % 36+12=
5 12+12= 30. 96 + 12 = % 36+12= 80. 120 +12 =
6. 48 ~ 12 = 3. 84 + 12 = 5. 24 +12 = 8. 96 + 12 =
- 60+12= 2. 72+12= 57. 144 + 12 = 82. 48 + 12 =
8 132+ 12= 3. 60+ 12 = 58. 84 + 12 = 83. 36+ 12 =
9 132+12= 34. 24 +12 = 59. 72 + 12 = 84. 120+ 12 =
1024 +12= . 108 + 12 = 60. 96 + 12 = 8 12+12=
1 36+12= 36. 48 + 12 = 61 84+ 12 = 86. 60 + 12 =
12 12+12 = 37. 108 + 12 = 62 24 +12 = 87. 72 +12=
B3 84+12= 8. 120+ 12 = 63. 132 + 12 = 8. 72 +12 =
14144 + 12 = 39. 96+ 12 = 64. 24 +12 = 89. 36 +12 =
15 24 +12 = 4. 108 + 12 = 65. 96 + 12 = 0 12+12=
1. 72+12 = 41120+ 12 = 66. 72 +12 = 9. 48 + 12 =
17108 + 12 = 2. 60+ 12 = 67. 132 + 12 = 2. 60+ 12 =
1836 +12 = 43. 84 +12 = 68. 72 +12 = 98 24 +12 =
9 72+12= 4484 +12 = 69. 108 + 12 = %. B0 + 12 =
20. 120+ 12 = 4. 12+ 12 = 70. 132+ 12 = 9. 72 +12=
21. 48 +12 = 4. 108 = 12 = 1132+ 12 = %. 72 +12=
22. 24 +12 = 47. 96+ 12 = 2. 108 + 12 = 7. 60+ 12 =
23. 48 +12 = 48. 132 +12 = 73120+ 12 = 9. 144 + 12 =
2 36+ 12= 49. 72 +12 = 4. 24 +12 = 9. 132+12=
5. 12+12= 50. 84 + 12 = 5. 84 +12 = 100. 96 + 12 =
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Divide these numbers.

Why couldn't the butterfly get into the dance? Because it
was a moth-ball!

1L 108+12=9 2% 24+12=2 5. 120+12=10 76 48+12=4
2. 96+12=8 27 36+12=3 52 60+12=5 77 144+12= 12

3. 132+12=11 % 12+12=1 8. 72+12=6 884 +12=7

4 120+12=10 2 108+12=9 5 24+12=2 7 36+12=3
5 12+12=1 30 96+12=8 55 36+12=3 8 120+12=10
6 48+12=4 8. @84:12=7 %6 24+12=2 8. 096+12=8

7 60+12=5 %2 72+12=6 5 144+12=12 8 48+12=4

® 132+12=11 B g0+12=5 % 84+12=7 8 36-12= 3

% 132+12=11 34 p4+12=2 5 72+:12=6 8 120+12= 10
1024+12=2 35 108+12=9 6 96+12=8 8 12+12=1

M 36+12=3 36 4g8+12=4 6L 84+12=7 8 F0=+12=5
12012+12=1 37 108+12=9 62 24+12=2 8. 72:12=6
13.84+12=7 38 120+12=10 6 132+12=11 8 72:12=6

4 144+12=12 39 9p+12=8 64 24+12=2 8 36+12=3

1 24+12=2 4. 108+12=9 6 96+12=8 0 12+12=1

10 72+12=6 4 120+12=10 6 72+12=6 9 48+12= 4
17.108+12=9 4 g0+12=5 6. 132+12=11 9% 60+12=5

8 36+12=3 4 84+12=7 8 72:12=6 9B 24+12=2

9. 72+12=6 4. 84 +12=7 6. 108+12=9 9% 60+12=5
200120+12=10 45 12-+12=1 70 132+12=11 % 72+12=6

2l 48+12=4 4 108+12=9 7L 132+12=11 % 72+12=6

2 24+12=2 4 96+12=8 7> 108+12=9 9 60+12=5

# 48+12=4 4 132+12=11 ™ 120+12=10 % 144+12= 12
2¢.36+12=3 49 72:12=6 T4 24+12=2 9 132+12= 11

25 12+12=1 50. 84+12=7 5 84+12=17 100. 96 + 12 =8
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